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TABLE 1 

𝑈𝑖 = 40,5/𝑅

𝑈𝑦 = 31,5/𝑅
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𝑅𝑚𝑖𝑛 =
11.8(𝑉𝑚𝑎𝑥

2 − 𝑉𝑚𝑖𝑛𝑓𝑟𝑒𝑖𝑔ℎ𝑡
2)

𝐸 + 𝐼

• 

• 

• 

• 

• 

• 

𝑅𝑚𝑖𝑛.𝑓𝑟𝑒𝑖𝑔ℎ𝑡 =
11.8 𝑉𝑓𝑟𝑒𝑖𝑔ℎ𝑡
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𝐷 + 𝐼
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11,8 × 𝑉𝑚𝑎𝑥
2

𝑅
− 𝐼 ≤ 𝐷 ≤

11,8 × 𝑉𝑚𝑖𝑛 𝑓𝑟𝑒𝑖𝑔ℎ𝑡
2

𝑅
+ 𝐸 
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Connection between straight alignment and circular

 

𝐿𝐾1 =
𝐷

(
𝑑𝐷
𝑑𝑠

)

• 

• 

• 

𝐿𝐾2 =
𝐷 𝑉𝑚𝑎𝑥

3,6 (
𝑑𝐷
𝑑𝑡

)

• LK2

• 

• 

• 

 

𝐿𝐾3 =
𝐼 𝑉𝑚𝑎𝑥

3,6 (
𝑑𝐼
𝑑𝑡

)

• LK3

• 

• 
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In dead-end tracks, with design speed of 50 km/h or lower, EN 13803 standard 6.16 requirements 

should be followed.  
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𝑅𝑚𝑖𝑛 =
11.8 𝑉𝑚𝑎𝑥
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